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1. Wage and other data for 545 men working from 1980 through 1987 are in the dataset wagepan.raw.  Consider the wage equation:


[image: image1.wmf]it

i

t

it

7

it

6

2

it

5

it

4

i

3

i

2

i

1

0

it

u

c

union

married

er

exp

er

exp

hispan

black

educ

)

wage

log(

+

+

q

+

b

+

b

+

b

+

b

+

b

+

b

+

b

+

b

=


The data are described in the text file wagepan.des. Notice that education and race are time invariant.  The implication is that for certain model specifications you may need to pay attention to instances where a variable becomes nothing more than another intercept.
a. Disregarding the time (θ) and person (c) effects, use pooled OLS to estimate the coefficients of the equation.

b. Disregard the time (θ) and person (c) effects. Suppose that the coefficients are thought to vary from year to year, but are the same from person to person.  Use Seemingly Unrelated Regression (SUR) to estimate the model coefficients. When you are done you will have eight (8) different estimates for, say, β4.
c. Comment briefly on your results for parts a. and b.

In the next few parts you will need to be aware of how one estimates an ANOVA model when the effects are large in number.

d. Estimate the unknowns of the model when there are fixed individual effects. Disregard θt.  

e. Estimate the model unknowns when there are fixed time effects.  Disregard ci.
f. Estimate the model when there are both fixed individual and fixed time effects.
g. Comment briefly on your answers to d., e., and f.

h. Estimate the model coefficients assuming that there are random time effects.

i. Between the fixed and random time effects models, which do you prefer?  This is a testable proposition.

2. An unobserved effects model explaining current murder rates in terms of the number of executions in the most recent three years is
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Where mrdrteit is the number of murders in state i during year t per 10000 people; execit is the total number of executions for the current year and the prior two years; and unempit is the current unemployment rate. The data is in the file MURDER.RAW and the data description is in the file MURDER.DES.

a. Disregarding the time and individual effects, estimate the model by pooled OLS.

b. First difference the data and estimate the model.

c. Estimate a fixed time effects model.

d. Comment briefly on any differences between your results for parts a., b., and c.

_1348060912.unknown

_1348062739.unknown

